Proving Lines Parallel
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| If two lines are cut by a transversal so that corresponding angles are

| congruent, then the lines are parallel.

|
Examples If £1 = /3, /2= Z4, /5= /7,
‘ /6= /8, thena || 4.
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{ Theorems Pruﬁi_ﬁg Lines Parallel

. 3.5 Alternate Exterior Angles Converse
If two lines in a plane are cut by a transversal so
that a pair of alternate exterior angles is congruent,
then the twao lines are parallel.

3.6 Consecutive Interior Angles Converse
If two lines in a plane are cut by a transversal
so that a pair of consecutive interior angles is
supplementary, then the lines are parallel.

3.7 Alternate Interior Angles Converse
If two lines in a plane are cut by a transversal so
that a palr of altemate interior angles is congruent,
then the lines are parallel.

3.8 Perpendicular Transversal Converse
In a plane, if two lines are perpendicular to the
same line, then they are parallel.

£12= 23 thenp || 4.
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IfmZ4 + m£5=180.thenp || 4.

If £6 = 28, thenp || 4.
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Given the following information, determine which lines, / k
if any, are parallel. State the postulate or theorem that /4 /
justifies your answer. 2 3
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2. m4L7 + m48 = 180 \ \/’

Find x so that m || n. Identify the postulate or theofem you used.
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Given: £1 and £2 are supplementary. < T
Prove: £ || m - 2/ -
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PROOF Write a two-column proof for each of the following.
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Find x so that m || n. Identify the postulate or theorem you used.
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Bx+1O=x-20

g1+ 3x=180 (Euppl- Fhr] it Tkt o)

ml] =180 =3x
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